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CALCULATION OF DEFORMATION 
OF A  RECTANGULAR PANEL CLADDING WITH STIFFENING RIB 

ON THE ACTION OF THE TRANSVERSE LOAD

-
.

- , -
. .

The article provides a numerical study of solutions of tasks bending trapped on a contour of a rectangular 
panel with one ribs. The iterative method of superposition of correcting functions in the form of hyperbolic-trigono-
metric series gives in the limit solution, convergence and accuracy of which depends on the number of members in 
the ranks and the number of iterations. Presented numerical results for the defl ection of the plate.
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 [2]. 

.

                            (4)

k = k / 2,   s = s / , s̃ = (s + 1) / 2.
 (4)  (1), -

.

, ,
-

Ak, …, Fs. n,
.

.
w0 (  (4)):

 (5)

, -
 [2–4] -

. -

 (4), 
.

 (4) 
:

,   ( n = 1 as1 = as0 + as1), k̃ = (k + 1) / 2), 
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Esn = – sCsn, Fsn = (1 – s cth s )Csn – Dsn cth s .                                        (6)

, -
 Maple.

. -
.

-
 ( G = 0). 

w (0; 1) = –0,0025329 ,  [5; 6] 
(   –0,00254    –0,0025330 ).

,
,  (

).
 1:2 ( -

).
,

0 G  0,44, 
. -

. ,
,  (  — 

y = 1). G > 0,44  ( -
) , k -

, . ,
, ,

.
 0 G  0,2.

G = 0,1  w (0; 1) = –0,0020022.  
N = 19, 29, 49, 69, 89, 109, 129, 149, 169, 189, 209. -

,
n = 10, 15, 20, 25, 30, 35, 40, 45, 

50, 55, 60 . , N  n 
. ,

.
N = 19, n = 10. , N < 19 -

.
 ( -

), 
x = 0. . 1 .
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 1
 1:2 (  = 1) 

y = 1 

.

G w(0; 0,5) w(0; 0,6) w(0; 0,65) w(0; 0,7) w(0; 1) N n

0 0,19171 0,21686 0,22642 0,23422 0,25330 29 10
0,1 0,17796 0,19594 0,20125 0,20441 0,20022 19 10
0,2 0,16900 0,18233 0,18487 0,18500 0,16552 19 15
0,3 0,16269 0,17275 0,17334 0,17134 0,14103 19 25
0,4 0,15803 0,16566 0,16480 0,16122 0,12286 19 40
0,5 0,15442 0,16016 0,15820 0,15340 0,10880 19 60
0,6 0,15155 0,15582 0,15296 0,14720 0,09765 19 90
0,7 0,14922 0,15228 0,14871 0,14216 0,08858 19 160
0,8 0,14729 0,14935 0,14518 0,13798 0,08105 19 500
0,9 0,14560 0,14672 0,14197 0,13418 0,07481 11 100
1,0 0,14421 0,14460 0,13943 0,13170 0,06885 11 150
2,0 0,13664 0,13173 0,12372 0,11261 0,03821 5 120
3,0 0,13353 0,12701 0,11804 0,10588 0,02610 5 150
4,0 0,13184 0,12445 0,11496 0,10223 0,01952 5 300
5,0 0,13080 0,12289 0,11309 0,10000 0,01550 5 1000

G = 0,3, N.
, N = 99

. G = 0,4  N = 69 . .
,

 ( . tsn ), .

k , , , ,
. s, . -

.
,

.
, , , . -

, ,
.

. 2 
G = 0,3 .

,
. .

-
. . 1 , N = 19 n

G = 0,2; 0,3; 0,4; 0,5; 0,6; 0,7; 0,8  15, 25, 40, 60, 90, 160, 500.
, G = 2; 3; 4; 5 ,
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. 2. , G = 0,3
(  19 ,  25)

, -
G = 5 ( ) ( . 3). 

. 3. , G = 5
(  5 ,  1000)

, . -
 1000 .

. . 3 ,
. ,

 [5; 6]  0,00126 
0,0012653, G = 5  0,0013080, .

.
. 4 y

,
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